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a. Cetirizine

b. Chlorocyclizine
eMeclizine

a. H1

H3

H1

ofh
i

C0
3

inhibiuing the H+R+
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Sulphonamide

Sulphonyl

Sulfenamide

a. Allopurinol
b. Methotrexate

c. Vincristine
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d. 6-Mercaptopurine
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the correct pair from
a. Thiotepa: Mesna

b. Busulfan: Aziridinium ion

c. Ghlorambueil: L-isomer
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a. Nifedipine
b. Felodipine

d. Nicardipine
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d Stimulating coagulation
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HC

CH

c.

Nesiritide
Tozesentan

Bosentan

d.Disopyramide

Select the incorrect statement.

a. Potassium channel blockage.
b. repolarization phaseIncreasing

d. Inhibition of ẞ stimulation

Clopidogrel acts by

a. Inhibiting platelet aggregation
b. Antagonizes Vitamin K

Antihyperlipoproteinemics like stâtins mimic--
a. Mevalonic acid
b.Tetrahedral intermediate in Mevalonic acid

Mevastatin
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a.

b.

Quinapril

Amyl alcohol& nitrous acid
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a. Sulphônyl ureas
b. Meglitinides
c. Thiazolidinediones
d. Biguanides

17 The starting material for the

4D
D0
72
EC

a. p- amino benzoic acid

b. p-amino benzoate
c. m-nitro benzoic acid

do-nitro benzoic acid
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Subject Code: 66111/Medicinal Chemistry-II

Identify the drug
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a.

HO

H

Η

HO

Dexamethasone
b Prednisolone

c. Betamethasone

d. Hydrocortisone

a. 3-one

b. 11-one

c. Double bond between C3

d. 20-one

To which chemical class

20

Sildenafil contains

a. Pyrazolopyridóindole

c. Pyrazinopyridine

d. Imidazoindole

a. Lěvo

b. dextro

C. meso

d. racemic

rin

The primary mechanism of action of local anasthetic is
a, Activation of ligand-gated potassium channels
b. Blockade of voltage-gated sodium channels

d. Bloćkade the GABA-gated chloride channels
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ii) Which class this drug belongs

iv) Write its therapeutic use
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Chemistry
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NH

resepect to

NH
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HC
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9

i) Identify the drug.

NH2

structure of each class.

i) Outline synthesis of Warfarin mentioning the reagents and reaction

ii) Outline the mechanism of fibrates and give an example and structure of drug

belonging to this class.

i) What is the advantage of 2nd generation H1 antagonist over 1st generation. Which

one 2nd generation H1 antagonist.
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